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ABHEEAFH A 16,977,581 11,011,463 5,966,118
= 6,509,745
z 2,012,400
p) 2,672,000
= 164,710
= 5,618,726
U2E 22 (Mol E/BHES) 2,842,152 3,284,716 N442 564
= 51,745
z 1,423,400
== 59,710
= 1,307,297
Ol2 &S Al&2te] 1,374,644 1,977,729 603,085
2 514,400
o= 59,710
= 800,534
ISaE A2 326,660 315,145 11,515
201 B3| 140,360 64,845 75,515
02 222gH4| 140, 360 64,845 75,515
Oz22=2 ¢ HMA 140, 360
0L =T A EZAAMN =&
440,000 3190 A 140,360
206 i = bl 7,800 7,800 0
01 MZHl 7,800 7,800 0
OlISaE ASSHE 22 2,0002 *3,9004 7,800
207 ARI| | 2,500 102,500 100,000
03 A& 2| 2,500 2,500 0
Oli2a4+E =ZAAME Mg
2,500,000 2,500
401 Al&HI L 20| 176,000 140,000 36,000
01 Al&H| 176,000 140,000 36,000
OARIEEAE =TEIZ FHISAM
4,000,000 1074 A 40,000
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2,000,000 *304 A 6,000
OAaRZAEZAE X ¢ HES
60,000,000& 60,000
OABEUI| L NHEFAXTZEI &1
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ARRSETAIE HEALY 749,400 1,064,000 A314,600
z 514,400
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401 Al&HI L2 749,400 1,064,000 A314,600
z 514,400
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01 Al&H| 744 678 1,057,296 A312,618
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749,400,000& *0.63/100 4,722
oS4 S g2 298,584 298,584 0
= 59,710
= 238,874
307 212t01& 298,584 298,584 0
= 59,710
= 238,874
05 2IZtREZ 298,584 298,584 0
Ot S g2
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& 59,710
= 238,874
OIZ24+E Al &5 1,467,508 ,306,987 160,521
= 51,745
= 909,000
= 506,763
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= 233,703
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= 909,000
= 233,703
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= 909,000
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Oltsadst 422 WX AIZR0Y|
150,000, 0002 *0.72/100 1,080
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= 51,745
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401 AIEHIZ 2O 173,725 205,907 A32,182
= 51,745
= 121,980
01 Al&HI 172,483 204,435 A31,952
OMRAESF2Y FOXIAAMY 172,483,000 172,483
= 51,745
= 120,738
03 Al 20HY| 1,242 1,472 A 230
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172,483,000& *0.72/100 1,242
HE2AHH (Aot AE L) 11,429 11,429 0
Jl2dyl(Lers ) 11,429 11,429 0
Jl2Z | 11,429 11,429 0
201 LBt 8,929 8,929 0
02 23234l 8,929 8,929 0
O332= & AMA 4,100
oXtE BEEZT L XSItA 1,100,000& 1,100
0oZBE AL I Al 1,000,000& 33 3,000
OXt | 4,829
o A=Al 22yl 4,829,000& 4,829
207 ALY 2,500 2,500 0
03 A&l 2,500 2,500 0
O[O0 E HIE 7 250,000 =104 2,500
MEES (Aot AIEA) 14,124,000 7,715,318 6,408,682
= 6,458,000
= 589,000
| 2,672,000
& 105,000
= 4,300,000
LHEHHXI= 14,124,000 7,715,318 6,408,682
= 6,458,000
& 589,000
| 2,672,000
= 105,000
= 4,300,000
MBI ELEIH NHEHES 3,489,000 5,377,665 A 1,888,665
= 589,000
= 2,900,000
404 SIS N=2NHES 3,489,000 5,377,665 A 1,888,665
= 589,000
= 2,900,000
01 SIIESEIAHN=2TE2 3,489,000 5,377,665 A 1,888,665
OsHEMESINIAMNE BEHES
589,000, 000& 589,000
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ST TIIASESH MES 10,635,000 2,337,653 8,297,347
= 6,458,000
I 2,672,000
= 105,000
= 1,400,000
404 2oIEXEEES 10,635,000 2,337,653 8,297,347
= 6,458,000
I 2,672,000
= 105,000
= 1,400,000
01 ZIYSLIIHNEHED 10,635,000 2,337,653 8,297,347
OBl +ERIIYSLE N 2X3WE 9,235,000
02NPET HE 6,458,000,0008! 6,458,000
= 6,458,000
oUSARNIIZ BB 2,672,000,0002 2,672,000
I 2,672,000
CHHEHUARIILTALSEAY TH XS
105,000, 000! 105,000
= 105,000
OB+ ZIIASLS Y N=HE
400,000,000} 1,400,000




